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Answer 2
In a box of pens, there are

three times as many red pens as green pens — i = &9
and two times as many green pens as blue pens. > 4 =2«

For the pens in the box, write down
the ratio of the number of red pens to the number of green pens to the number of blue pens.
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Answer 3

Sandra has a piece of string 153 cm long.
She cuts the string into three lengths in the ratio 4:2:3

Work out the length, in centimetres, of each piece of string.
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Answer 4

Tara makes some pancakes.
She uses 750 m/ of milk.

(b) Work out how many pancakes she makes.

M

X?:zb | O 5060 ua l 750
300 "2 ?SDML 3co

7 = loxi®0 _ 9 ¢ P AR AR
’ 16D —_—

For more information please visit https.//www.exampaperspractice.co.uk


https://www.exampaperspractice.co.uk

7

EXAM PAPERS PRACTICE

Answerb5

Katie also has a tin of chocolates.
There are 80 chocolates in the tin.
45% of the chocolates have toffee in the middle.

(b) Work out the number of chocolates that have toffee in the middle.
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Answer 6

Pavel and Katie share some sweets in the ratio 3 : 8
Katie gets 32 sweets.

(a) How many sweets does Pavel get?
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Answer 8
Jack is building a wall. Usc
He uses 300 bricks to build part of the wall,_—————————— (€ AT(AS

This part of the wall is 5 metres long and 1.5 metres high.
The complete wall will be 8 metres long and 1.5 metres high.

How many more bricks does Jack need to complete the wall?
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Answer?9

Here are the ingredients needed to make 12 shortcakes.

Shortcakes
Makes 12 shortcakes

50 g ofsugar
200 g of butter
200 g of flour

10 m/ of milk

Liz makes some shortcakes.
She uses 25 m/ of milk.

(a) How many shortcakes does Liz make?
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500 g of sugar
1000 g of butter
1000 g of flour
500 m/ of milk

(b) Work out the greatest number of shortcakes Robert can make.

Svase -

EUT—TC'YL
CLov

MILK

6O
,__-_.—--
To

lop/p/ = G
260 E

1060
Pt G

200
$00 -

—

1O

= [ O

(HE (ccire

T2

N
|®

50

For more information please visit https.//www.exampaperspractice.co.uk


https://www.exampaperspractice.co.uk

EXAM PAPERS PRACTICE

Answer 11l

Here are the ingredients needed to make 10 pancakes.

Pancakes

C ATioc

Ingredients to make 10 pancakes

300 m/ of milk
120g  of flour
2 eggs

Matthew makes 30 pancakes.

(a) Work out how much flour he uses.
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Answer12
F] re fl I
v is directly proportional to Ih@ & ?fZac?o:raﬂ sNATLITY
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Answer13

A |
@s inversely proportional / 3

Whent=4,p=12
Find the value of p when 1= 6
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Answer 14
3

d 1is inversely proportional to ¢
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When ¢ =280, d=25
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The graphs of y against x represent four different types of proportionality.

Match each type of proportionality in the table to the correct graph.
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